Department of Economics Fal 2004
Univergty of Cdifornia Woroch/L opez/Sydnor

Economics 121: Problem Set 4
Due Thursday, Dec. 2 (in lecture)

True/False/Uncertain: Explain your answer.

=

Sdling aproduct below its short-run margina cost of production is necessarily predatory.
2. Largefixed cogts and difficulty in sdling off capitd assets will make predation less likely.
3. Vetica mergers are totd-wdfare enhancing.

4. Thereisno differencein find market outcome between an industry structure with asngle
verticaly integrated monopolist and a structure with an upstream monopolist facing a perfectly
competitive downstream.

5. Because ahorizontal merger reduces the number of firmsin an industry, it raises price, thus
hurting total welfare.

Multipart Questions. Answer each part of the below questions.

1. KiaMotors manufactures cars that are sold through dedlers. The (daily) demand for Kiacarsina
certain market isgiven by D(p) =30—p, and let the (congtant) margina cost of manufacturing a
car be MC =5. (All prices and cogts are expressed in units of thousands of dollars to make these
conditionsredistic.) To begin with, assume that Kia does not own its deders but instead sdllsthe
carsto them at awholesae price of w.

a) If thereisasngle deder with an exclusveright to retail Kid's, find the profit-maximizing
retall price it will charge, dong with the quantity and the dedler’ s profit, given awholesde
price w per car.

b) Now look a the manufacturer’ s problem: find the wholesde price that maximizesthe
manufacturer’ s profit, and then compute the corresponding quantity of Kia's, plus the profit
levels of both the manufacturer and the dedler at thiswholesde price.

c) Kiaconsdersbuying the dealer. What would the equilibrium price and profit beif it did
undertake both manufacture and retailing of its cars? Compare this price againgt your
answer in (b).

d) If, ingtead, there was perfect competition in retailing of Kia's, a what level would the
manufacturer set its wholesdle price?

e) Find Kia sprofit level at the pricein (d), compute the associated profits, and compare them
againg profits found in (b) and (C).
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2. Waffle World makes frozen waffles and sdls them successfully dl over the country using a
secret family recipe. Recently Frenchy’s Toast Company engaged in abit of corporate
espionage and stole the secret recipe. Frenchy’sis now considering entering the frozen waffle
market. Waffle World has threstened to take Frenchy’sto court if they use the stolen recipe.

The payoffs are asfollows:

Wetfle World Profits Frenchy’s Profit
F: no enter 10 0
F: enter ; W: goesto court 4 2
F: enter ; W: does not go to court 5 5

a) Draw the extensve form of this game, in which Frenchy’ sfirst decides onentry and then
Waffle World decides whether to go to court or not.

b) IsWaffle World' s threat to go to court credible?

c) Will Frenchy'senter?

Ingtead imagine that Waffle Corp is conddering hiring alawyer to join their staff before seeing
whether Frenchy’s decides to enter or not.

The payoffsif Waffle Corp hiresthe lavyer are as follows:

Weffle World Profits Frenchy’s Profit
F: no enter 6 0
F. enter ; W: goes to court 6 -1
F: enter ; W: does not go to court 3 5

d) Giveanintuition for the way in which these payoffs differ from the payoffsin the case when
Waeffle Corp does not higher the lawyer.

€) Draw the new extensve form where first Waffle decides whether to hire the lawyer, after
observing that choice Frenchy’ s decides whether to enter or not.

f)  Will Frenchy’s enter the market in this case? Explain how you came to your conclusion.

3. For each one of the computer industry business practices described below, give reasons why
each one may:
(i) redizeeconomic efficiencies, and
(i)  harm consumers and/or competition.

a) Personal computer software makers bundle severd software applicationsinto a
“productivity suite”

b) 1BM provison of software and service to customers who buy or lease its mainframe
computers.
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